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PROBE WH (1)

I) Fill in “some” or “any” ( /10)
Dear Jennifer,
I have this really big problem! We moved to a new town months ago. Now
I go to a new school where I don’t have friends at all. There are even

older boys from my school who always laugh at me! Yesterday they

followed me on my way home. They stopped me where in the park and
wanted money from me. When I said that I didn’t have money,
they beat me! Now I have really big bruises on my back. My mother asked
me about the bruises, but I told her lies. I can’t tell her thing about
these boys! There isn’t person I can talk to! What can I do?

IT) King Arthur: ( 120)

Fill in the words in the correct form.

go — think — tell —ask —say — go —join — live —come back — not
hesitate
pull —shout out — come — not can — begin — see — be — fight — see — be

When Arthur was a boy, he with a knight, Sir Hector, and his son, Kay. One day,
Merlin the wizard to Sir Hector and him about a big tournament in
London.
At Whitsun, Arthur, Kay and Sir Hector to the tournament. There
many knights, and Arthur stop staring.
Finally, the tournament , but Kay had forgotten his sword at the inn. He

Arthur what he should do, and Arthur and
“You can have my sword!”
Then Arthur back to the inn to get Kay’s sword. On the way, he a
sword in a stone. “What a lucky fellow I am,” he and the sword
out of the stone quickly. When he to the tournament, he
the fight. All the people surprised how great Arthur , and when they

the sword, they : “He’s got the sword! He’s the true king!”

III) Adjectives & Adverbs: (i)

quick — fast — loud — happy — proud — good — easy — beautiful — silent — slow ‘

1. Arthur was very when he won the fight.

2. The King’s horse was very
3. Mordred was not a king.

4. “I think I'm dying,” Arthur whispered

5. The people were cheering when the tournament began.
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. The sword came out of the stone
“I am of you

. The wizzard went out of the room
Arthur’s sword was very .

10. The old man walked over to the King.

said Sir Bedivere.

"9

key: 0-49% = 5; 50-63% = 4; 64-79% = 3; 80-91% = 2; 92-100% = 1
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IV) Modal Verbs ( /10)

must -- has to -- can -- shall -- wasn’t able — must -- have to -- aren’t allowed -- may -- might

- Mom, there is a party at Lisa’s next Friday, I go?
- What kind of party?
- A birthday party. Everybody bring popcorn or crisps or a cake.

- Isee... And when does the party start?
- Atnine o’clock...

- Are you crazy? You to go out that late!

- But Mom, all my friends g0, too!

- OK, but you come home before midnight. And you call
me before you go home.

There are not many rules in my family, but sometimes I carry out the

dustbin.

Pete asked Sally: “ we dance?”

He tried hard, but he to climb the rope.

If you wear that costume, you frighten an old lady!

C___/50)

V) “Dear Jennifer”...
Jennifer got two e-M@ils from teenagers who asked her for help with their problems. But
now Jennifer has got a problem! The two e-M@ils got mixed up! Can you help Jennifer to

sort them out?

Write down the two e-mails; then write an answer to Marion or Peter.

Dear Jennifer, Dear Jennifer,

I'm a thirteen year old boy. ['ve been crazy about this boy since Christmas. We
were at a party together and I danced with him a lot. ['ve fallen in love with this
girl but I don’t know how to ask her out. I thought he fancied me too, but I’'m not
sure any more. Sometimes I think she fancies me, but sometimes I've got the feeling
she ignores me. I’ve never been out with a girl before and I don’t know what to do.
I'’ve tried everything to attract his attention. I’ve even written a letter to him, but he
hasn’t written back. He hasn’t even said thank you. Where can I take her? Do you
think I can ask him to give the letter back to me? I don’t want my friends to see us
on our first date. I'm afraid he could show it to his friends. So I can’t take her to
my youth club. What can I do?

Yours, Marion. Yours, Peter.
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